The Residual Method
QFQ’s
1) With what property types would you use the residual method?

2) What is the framework of the market?

3) What are the advantages?

4) What are the limitations?

5) For what purpose can the residual method be used?

From ‘residue’………the bit left over

The Basic rationale

· The developer knows what the finished development will sell for (following a valuation)
· The developer knows what it will cost to build
· The other costs involved are the holding charges (interest on the money borrowed whilst the property is being built) and the acquisition fees
· The Residual is the amount left over which can be advised should be the top end that the developer should pay for the land
Gross Development Value (GDV) – Gross Development Cost (GDC) = Surplus

Surplus – Holding charge – acquisition fees = Residual

TWO PART CALCULATION TO FIND THE RESIDUAL

When it is used

· DEVELOPMENT situation

· REFURBISHMENT situation

· Land either has or could have planning permission

· To determine how much should be bid for the land (Greenfield or Brownfield land)

· Land/buildings with alternative planning permission

Greenfield/Brownfield Land

Greenfield land is land which has never been built upon before

Brownfield land is land which has been built on before

Example situation

Industrial Development land which is 1.4 acres with planning permission for a 20,000 square foot industrial unit with access of a drive. Will take one year to build.
Gross Development Value (GDV) of £1.3million 

ERV 1860 square metres  at £300 p/m (figure derived from comparables). ERV is £104,160
GDV is £1.3million.

For the calculation of GDV-GDC=Surplus , we now need to calculate GDC.

GDC is-

Build costs + Fees + Finance + Developers profit + Letting fees + Sale fees

B+F+F+D+L+S


Remember         Big Fat Farmers Die Lonely and Sad

1. Build costs : 1860 sq m x £300 = £558,000
If can’t get the build costs, consult the BICS (Building Cost Information Service-quarterly publication). Build costs are always GIA (gross internal area)
2. Fees: Professional fees-architect, quantity surveyor and other people who control the work-not the builders themselves. Typically around 15% of build costs. £558,000 x 15% = £83,700
3. Finance: Interest charged from the lender @8% (high mortgage rate due to risk for development-this may of course vary from one developer to another). Finance will be on fees and build costs. (£558,000 + £83,700) x 8% x1 year (time taken to build) = £51,336
4. Developers profit: Developers will normally calculate profit wanted to a reasonable level. If they ask for too much, the residual left will be less. This will mean that they may be outbid on the land. Typically developers will express profit needed in terms of % of Build costs + Fees + Finance. About 15-25% would be typical. If they are expecting the property market to boom, they may express their profit in terms of % of GDV instead.
If 20% of build costs + fees + finance is needed, then the developers profit is (£558,000 + £83,700 + £51,336) x 20% = £138,607
5. Letting fees: Typically around 10% of ERV. If ERV is £104,160 (derived from previous valuation, calculation to make is- £104,160 x 10% = £10,416
6. Sale fees: Typically about 5.75% of GDV (5.75% is typical for GDV’s of over £1 million. The figure also includes stamp duty). £1.3million x 5.75% = £74,750
Point 6 is also commonly referred to as the ‘Prospective purchaser’s costs of acquisition’ (quoting this phrase normally gets good exam/coursework marks)

GDC is therefore-

                            Build costs:                 £558,000
                            Fees:                             £83,700



        Finance:                        £51,336

                            Developers profit:       £138,607
                            Letting fees:                  £10,416
                            Sale fees:            +       £74,750








  £919,809

GDV (£1.3 MILLION) – GDC (£919,809) = SURPLUS OF £383,191

Now we have the surplus, we need to subtract the holding charges and acquisition fees to calculate the residual

Holding charge
As the surplus is after 1 year, the interest charged needs to be taken out. Parry’s tables are used for the Present Value (PV) of £1 after one year. This is £0.9259. 

Surplus (£383,191) x PV for one year (£0.9259) = holding charge of £354,797  

This is the same as……           Surplus (£383,191)

                                    

                                     1.08 (1+8% interest rate charged) 

Acquisition fees

This is typically about 4.75% of the remaining (after the one year so must be divided by 1+4.75%)

£354,797

                      = £338,708
  1.0475

RESIDUAL = £338,708
Residual represents

· Maximum bid a developer can afford to pay for a development site. It would be advisable to offer less for a higher profit. It would also be advisable to find out the asking price in case it is much lower. Why pay £338,708 for land if the seller only wants £250,000.
· Highly individual input data. The development could take longer than a year. Costs could escalate or be less than expected. The interest rate the developer is charged by the lender can vary. There may be other costs which need to be taken out (for example knocking down an existing building or removing poor contaminated soil)
· It is therefore a calculation of WORTH to the developer. It is not a calculation of VALUE
Advantages

· Easy to use
· Highly flexible (can add to the Gross Development Cost sub categories if needed)
· Uses market data
· Lends itself to use with IT (see the excel document I’ve created)
· Mirrors the developers approach
Limitations
· It’s artificial. There is much more to it than that. For example, will the work be completed on time?
· Assumes cost of development is borrowed up front. Therefore Interest is overstated. Reality is normally that no more than half of the capital is borrowed at any one time. A simple trick would be to divide the interest in half. The figure it comes out as would be closer to the correct figure.
· Only as accurate as the input values
· Fails to account for the ‘S’ curve of development
‘S’ Curve

More is spent towards the end of the project. Typically about 40% will be spent in the first half of the time period with 60% spent in the last half the time period.

Purposes for the Residual method of valuation

Because it is highly individual in nature it is……

· A calculation of worth, not value

· Therefore used more in negotiation than in valuation (i.e. making a bid for a development opportunity)

· It can support valuation BUT ‘Market Value’ requires comparables with a very careful analysis

Alternatives

· Comparable method

· Residual by Discounted Cash Flow (DCF)

· Circle systems development Valuer (Extremely expensive piece of software)

Summary

· Residual is used to calculate the value of a site with development OR refurbishment potential (DON’T FORGET REFURBISHMENT)

· GDV-GDC=SURPLUS

· SURPLUS-HOLDING CHARGES-ACQUISITION FEES=RESIDUAL

· Residual represents the MAXIMUM bid a developer should normally make
· Residual is WORH, not VALUE
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